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QUESTION 1

The Hitachi Storage Cluster (HSC) for Microsoft Environments script for the Microsoft Cluster software has to support
several specific functions. Which three functions need to be supported? (Choose three.)

A. IsAlive
B. Online
C. IsDead
D. TakeOver
E. LooksAlive

Correct Answer: ABE

QUESTION 2

You have been asked to install HH-Command Protection Manager (HPtM) software in an environment where integration
with backup software is required. Which three must be in place before you begin the installation? (Choose three.)

A. RAID Manager CCI

B. Netbackup MS SQL server agent

C. Netbackup or Backup Exec software

D. HiCommand Device Manager software

E. Shadowlmage software or Copy-on-Write Snapshot software

Correct Answer: ACE

QUESTION 3

The Command Control Interface (CCI) for the Universal Replicator pair operation displays a PFUS split type. Which
three statements are true? (Choose three.)

A. The PFUL status is displayed as PAIR status by Storage Navigator.

B. The PFUS status is displayed as PSUS status by Storage Navigator.

C. The pair status will change from PFUS to PSUE when the primary Journal Group is full.

D. The pair status changes from PFUL to PFUS when the primary Journal Group is 80 percent full.

E. The pair status will change from PFUL to PFUS when the "data overflow watch" time period is exceeded.

Correct Answer: ABE
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QUESTION 4

A customer must implement a Disaster Recovery environment for a mission critical UNIX database. The production and
recovery sites are 30km apart and a DWDM infrastructure is in place between the locations. The requirement is for zero
data loss in the event of a disaster. Which HDS replication technology meets the customer\\'s requirements?

A. Universal Replicator

B. TrueCopy Synchronous

C. TrueCopy Asynchronous

D. TrueCopy cascaded from a local Shadowimage

Correct Answer: B

QUESTION 5

On the Storage Navigator frame for a TrueCopy pair operation, the "Status" column indicates PDUB. What is the status
of the pairs indicating PDUB?

A. This is a TrueCopy LUSE status of a pair suspended error.

B. This status indicates that the TrueCopy pair is in the initial copy.

C. One or more LDEV pairs are SMPL on a TrueCopy LUSE volume.

D. The status of the TrueCopy software LUSE volume is in the initial copy.

Correct Answer: C
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